Im_ﬁnd a negative slope

: FIND SLOPE

In Example 2, if you

: used two other points

i on the line, such as

: (4,3)and (5, 1), in the

: slope formula, the slope
: would still be -2.

- Find the slope of a horizontal line

Find the slope of the line shown.

Let (x,,y,) = (3,5) and (x,, y,) = (6, —1).

_Y27h .
m= X, — %, Write formula for slope.
_-1-5 .
~%-3 Substitute.
_ -6 _ Lo
=3 = -2 Simplify.

Find the slope of the line shown.

Let (x,, y)) = (=2, 4) and (x5, ¥,) = (4, 4).

_Y2"N .

=%, -x Write formula for slope.
_ _4-4 .

T1-(<2 Substitute.

-0 _ S

=5 " 0 Simplify.

The line falls from left to right.

The slope is negative.
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The line is horizontal.
The slope is zero.

(m Find the slope of a vertical line

v

4. (5,2)and 5, -2)

Find the slope of the line shown.

Let (x;, y,) = (3, 5) and (x,,¥,) = (3, ).

Y.~y
m = xz — xl Write formula for slope.
2 1
_1-5 ,
3_3 Substitute.
= % Division by zero is undefined.

Ay i
REE

0(3' "

y | Y

The line is vertical.
The slope is undefined.

» Because division by zero is undefined, the slope of a vertical line

is undefined.

GUIDED PRACTICE = for Examples 2, 3, and 4

Find the slope of the line that passes through the points.
6. (0,6) and (5, —4)
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5. (0,4) and (-3, 4)



